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No. 1 [zl Bi#f] F= 235 (8S400) ou= 400 BOLT M20 (F10T) To= 500 bou= 1000 5tf%d=22.0
GLISLQOX QSX(I)O. gx]?.ﬁgx 7. ?g?’i*g A=1700.0
-PL t 9. i
BOLT §IJ§5[ n= 1 - — oo § -
T8 m= p= 60 e= 40 H
NL E a I kx Iky fc A
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[rfh’e*-ﬁif\jjf“u&u’r (1«%&#) ] (F1ERAEMIOES (sz[&nﬂ ] #'Ji [§:3::30): 558
Kt Ps = P $E Pun  FEALVERER G-PL PDERIEE
? bCf = 258 0 L 50.0 172.0 0.29 0K 479.4  BOLT PZ = 883 6 0K WHEIE le (@ 388
bTf = 294.9 S1 170.0 258.0 0.66 OK [FLHE b-P3 = 800.0 OK 1 RERET 161.4 388 @ 210
BOLT BTf = 353.4 S2 -70.0 294.9 0.24 0K -P3 = 720.0 OK 2 RE&Er 155.2 311 @ 226
G-PL gTf = 302.4 0K G-PL P4 = 514.8 0K 0K
<BOLT> Ab Tob sfs mBu i 7'-(??51 <HZIA> do Ae
314 157.1 1@E®E 70.7 176.7 22.0 1255
2EER 1414 3534 1255
No. 2 [ILfzdl &4 F= 235(8S400) ou= 400 BOLT M20 (F10T) To= 500 bou= 1000 5f%d=22.0
2L-100x100x10. 0x10.0x 7.0 #E# (&FA&) A=1900. 0
G-PL t 12.0 B 305 ;&#S 10
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NL N a I kx Iky fc A
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EX bCf = 498 8 L 50.0 332.5 0.15 0K 1071. 6 BOLT P2 = 2120 6 OK WHENE le (@ 831
bTf = 789.6 S1 275.0 498.8 0.55 OK FL&HE b-P3 =1920.0 OK 1 RE&E 302.0 831 @ 436
BOLT BTf = 848.2 S2 -175.0 789.6 0.22 0K g-P3 = 1152.0 0K 2 RERET 245.3 663 @ 456
G-PL gTf = 798.1 0K G-PL P4 = 1358.4 OK 0K
<BOLT> Ab  Tob sfs mBu "*‘Zkii <HEZA> do hn Ae
314 157.1 1@E®  70.7 176.7 22.0 1 0.0 3360
2MEEER 141.4  353.4 2R 2860
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No. 3 [1Lfzél %] F= 235(8S400) ou= 400 BOLT M20 (F10T) To= 500 bou= 1000 guf%d=22.0
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EX bCf = 631, 4 L 50.0 420.9 0.12 0K 1371.1  BOLT P2 = 2120.6 OK WEIE le (@ 893
bTf = 855.4 S1 275.0 631.4 0.44 0K [TL&HE b-P3 =2496.0 0K 1 RE%ET 344.8 893 @ 467
BOLT BTf = 848.2 S2 -175.0 848.2 0.21 0K g-P3 = 2304.0 0K 2 RERET 329.6 848 @ 487
G-PL ETE G-PL P4 = 1931.6 OK
<BOLT> Ab  Tob sfs mBu WA  <HIA do hn Ae
314 157.1 1@E® 70.7 176.7 12 22.0 1XRE&EHH 25.0 3640
2MEEER 141.4  353.4 2 RERETE  25.0 3640
No. 4 [EMM B# F= 235(8S400) ou= 400 BOLT M20 (F10T) To= 500 bou= 1000 gvf%d=22.0
[-125x 65x 6.0x 8.0x 8x 4.0 Bisf A=1711.0
GPL t 9.0 B 180 ;&#S 8
BOLT U3 n= 1 C —:MME B
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NL NE a I kx Iky fc A
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5|5k Ps = N P HIE Pun Hh?ﬁ\b‘ﬁﬁuﬂ P1 = 548.4 0K G-PL EREER
4 bCf = 278 5 L 50.0 185.7 0.27 0K 482.5 BOLT P2 = 1060.3 OK WHEINE le @ 424
bTf = 322.2 S1 170.0 278.5 0.61 OK [TL&HE b-P3= 576.0 OK 1 RE&E 174.3 424 @ 228
BOLT BTf = 424.1 S2 -70.0 322.2 0.22 0K -P3 = 864.0 0K 2 RE&ET 156.0 313 Q@ 244
G-PL gTf = 334.2 0K G-PL P4 = 568.8 OK 0K
<BOLT> Ab Tob sfs mBu BAH  <EHBAD do hn Ae
314 157.1 1@E®E  70.7 176.7 6 22.0 1 RE&ETAE 13.0 1371
2MEEE 141.4  353.4 2 RERETA 13.0 1371
No. 5 [[EmE &&] F= 235(S5400) ou= 400 BOLT M20 (F10T) To= 500 bou= 1000 guf%d=22.0
2[-200x 90x 8. 0 13.5x14x 7.0 ## A=3865.0 R
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bTf = 1651.1 S1  275.0 1265.6 0.22 0K lTL&HZE b-P3 =3072.0 OK 1 RERET 413.8 1087 @ 575
BOLT BTf = 1696.5 S2 -175.0 1651.1 0.11 OK g-P3 = 3648.0 0K 2 RE&E 330.8 843 @ 607
G-PL EIE G-PL P4 = 2754.3 0K
<BOLT> Ab Tob sfs mBu BAH  <EHEDAD do hn Ae
314 157.1 1@E®  70.7 176.7 12 44.0 1 REZETEH 0.0 7026
2EEE 1414 353 4 2 REBEHE 18.0 6054
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bTf = 220.0 [TL&HE b-P3= 768.0 0K 1 RE&%ET 100.0 232 @ 136
BOLT BTf = 282.7 g-P3 = 768.0 0K 2 RERET 92.5 209 @ 156
G-PL gTf = 220.0 OK G-PL P4 = 374.4 0K 0K
<BOLT> Ab Tob sfs mBu "*‘2&?5‘( <HE#A> do  Ae
314 157.1 1@E®  70.7 176.7 22.0 936.0
2MEER 141.4  353.4
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bTf = 287.6 [TL&HZE b-P3 = 864.0 OK 1RERET 124.0 337 @ 186
BOLT BTf = 424.1 g-P3 = 576.0 0K 2 REREH 117.2 314 Q@ 204
G-PL =EE G-PL P4 = 559.5 0K
<BOLT> Ab  Tob sfs mBu WA <HHA do  Ae
314 157.1 1@E®R  70.7 176.7 3 22.0 1224.0
2MEEE 141.4  353.4
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No. 8 [H.8fl] F= 235 (SS400) ou= 400 BOLT M18 (F10T) To= 500 bou= 1000 5%f%d=20.0
160 (fﬂﬁﬂh C) FB- 50x 6.0 A= 201.1
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bTf = 35.4 [TL&HE b-P3= 192.0 0K 1 REEET 45.1 62 @ 43
BOLT BTf = 114.5 g-P3 = 192.0 0K 2 RERET 43.6 58 @ 55
G-PL gTf = 49.4 0K G-PL P4 = 84.0 OK 0K
<BOLT> Ab Tob sfs mBu AR
254 127.2 1@EEE 57.3 143.1 2
2 EEER 114.5  286.3
No. 9 [TB] F= 235 (SS400) ou= 400 BOLT M20 (F10T) To= 500 bou= 1000 5%f%d=21.5
TB-M20 3]3?*& 65x 9.0 A= 258.0
G-PL t 9. B 80 &#ES 8
BOLT m&z n— 1 I =B
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|3& T Ps = N P ¥ E Pun Hh?ﬁ\b‘iﬁluﬂ P1 = 103.2 G-PL EREER
4 = 258 0 S 0.0 60.6 0.00 OK 72.8 BOL P2 = 176.7 0K WHEIE le @ 80
be = 60.6 & Lﬁ% b-P3 = 180.0 OK 1RE&st 50.2 80 @ 56
BOLT BTf = 70.7 -P3 = 180.0 OK 2RkERE M7 56 @ 72
G-PL gTf = 123.7 0K G-PL P4 = 210.6 OK 0K
<BOLT> Ab Tob sfs mBu AR
314 157.1 1@E®E  70.7 176.7 1
2WEEE 141.4  353.4
No. 10 [HFZ4H GGF-4X-J4020%0912-20] F= 235 (SS400) ou= 400 BOLT M20 (F10T) To= 500 bou= 1000 5%f%d=22.0
H- 400x 200x 8.0x13.0x 13 = 8337 o —
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T S %es T Gad EEl
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53R A Ps = N P HIE Pun  FamULVERER P1 = 2595.6 PWEBIER
EX71 bCf = 1959 2 L 0.0 1016.6 0.00 OK 2351.1  BOLT P2 = 5654 9 OK le @ 2007
bTf = 1524.9  S1 0.0 1524.9 0.00 OK [TL&HZ b-P3 =3008.0 OK 1RE%Et 2007 @ 1020
BOLT BTf = 2261.9 S2 0.0 1524.9 0.00 OK SL-P3 = 4608.0 0K 2 RE&kEH 1818 (@ 1036
A# 16 AR SL-P4 = 2620.8 0K
<BOLT> Ab Tob sfs mBu HBARM  <EDAD  Ae GRIR> 1B do Ae T Ae
314 157.1 1@EEE#& 70.7 176.7 Flange 12 648 Flange 80 44.0 4896 6552.0
2MEEER 141.4  353.4 Web 4 Web 260 88.0 1656
No. 11 [HFZ8H GGF-4X-J3525%0916-22] F= 235 (SS400) ou= 400 BOLT M22 (F10T) To= 500 bou= 1000 5%f%d=24.0
H- 340x 250x 9.0x14.0x 13 = 9953 JEE—
AIE Flangest 12.0 ;¥ 12.0 Web 9.0 &#S 8 I e — = e
BOLT nfxmf gl g2 e p mwxnw Pc e }g]B — ng H
3x 2 150 0 40 60 3x 1 60 40 60 —— T
NL NE a Ikx lky  fc — o
0.0 0.0 1.50 0 0 235.0 eppe ee
(RIS hERE (1»5!.:;1%1‘) ] (¥ 1 BRAMNES (Zdh\nx.:‘l') ] HIE | (REO®E)
B3EM A Ps = N P HI5E Pun  FHmULNERER 0K WEBER
F# bCf = 2339 0 L 0.0 1247.2 0.00 OK 2806.8 BOLT P2 = 6414 7 0K le @ 2462
bTf = 1870.9 S1 0.0 1870.9 0.00 OK [TL&HE b-P3 =3120.0 0K 1RERET 2462 1247
BOLT BTf = 2565.9 S2 0.0 1870.9 0.00 OK SL-P3 = 5472.0 0K 2 /E&%Et 2170 @ 1263
A 15 iR SL-P4 = 3744.0 0K
<BOLT> Ab Tob sfs mBu WA <EDBD Ae  <GHIR> OB do Ae T Ae
380 190.1 1m@EREE#® 85.5 213.8 Flange 12 7961 Flange 1004 48.0 8496 9360.0
2MEEER 171.1  427.6  Web 3 Web 200 72.0 864
No. 12 [HF8H GGF-4X-T6030%1222-20] F= 235 (SS400) ou= 400 BOLT M20 (F10T) To= 500 bou= 1000 5%f%d=22.0
H- 600x 300x12.0x22.0x 13 A= 20017
AIE Flangest 16.0 | 19.0 Web 9.0 &#ES 8 — %
BOLT nfxmf gl g2 e p mwxnw Pc e p -
6x 2F5 150 40 40 45 4x 2 120 40 60 e g |
NL NE a I kx Iky fc
0.0 0.0 1.50 0 0 235.0 €pbpppe
(EFRINERET (1 RE&ED ) (F1EREAEMAOES (2RE&E) ) FE | UAEO®KE)
5|5Riif A Ps = 3830.3 N P ¥ 5E Pun B LERES P1 = 6519.6 0K WEBER
EX bCf = 4704.0 L 0.0 2553.5 0.00 OK 5644.8 BOLT P2 =11309.7 OK le (D 5041
bTf = 3830.3 S1 0.0 3830.3 0.00 OK [TL&HE b-P3 =09984.0 0K 1RkERET 5041 @ 2537
BOLT BTf = 4523.9 S2 0.0 3830.3 0.00 OK SL-P3 =15744.0 0K 2 RE&REH 4366 @ 2553
& 32 AR SL-P4 = 7947.2 0K
<BOLT> Ab Tob sfs mBu HaARE CHFIA  Ae RS> 1@ do Ae  TAe
314 157.1 1m@EEE#E 70.7 176.7 Flange 24 16299 Flange 110/ 60.5 13725 19868
2MWEEEE 141.4  353.4 Web 8 Web 440 88.0 6143
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No. 13 [FTs4RE] F= 235(SS400)  ou= 400  BOLT M20 (F10T) To= 500 bou= 1000 \#d=22.0
O- 300x 300x12.0x 24 A= 13453
GPL t320 B 0 &S 12 B o §
BOLT 3% n=3  g= 80 — it 8 |B
T8 m= 4 p= 60 e= 40 — i
SRMADAEE NS o
0.0 epppe
(FFEIENERET (1R x:-‘|') ] (B1ERAMOES (2REE) ) HFE | GEEOKRE)
élﬁﬁmﬁﬁ Ps = 1696. N P $I5E Pun S EEER P1 = 5381.3 OK G-PL DEREES
E# he = 353 s 0.0 1696.5 0.00 0K | 3793.8 BOLT P2 = 4241.2 0K BEE  le (D 1956
bTf = 3161.5 U&= b-P3=8610.0 OK | 1%t 291.6 1489 (@ 1002
BOLT BTf = 1696.5 g-P3 =6144.0 0K | 2Rt 362.4 1956 (3 1026
G-PL B G-PL P4 = 3863.6 OK
<BOLT>  Ab  Tob sfs  mBu wAY  <G-PL BmEt
314 1571 1@EEEE  70.7 176.7 12 22.4
2EEE 141.4  353.4
No. 14 [4B%] F= 235(SS400)  ou= 400  BOLT M20 (F10T) To= 500 bou= 1000 7R#d=22.0
O- 318.5x 10.3 A= 9973
GPL t240 B 0 &S 12 T
BOLT ZUgn=3 = 80 —leoofl & B
T8 m= p= 60 e= 40 iadai)
Elﬁﬁiﬁmo)é’%%ﬁ NS L
0.0 epppe
(BF RIS ARG (1%&#) ] (F1EREAMNES (2RFE) 1 HE | CFEORKRE)
I3 1 Ps = N P #5%E|  Pun me\ﬁmurs P1=3989°1 0K G-PL BEBEE
EX7H he Z 006 0.0 1696.5 0.00 OK | 2812.3 BOLT P2 = 4241.2 0K BHEE  le (D 1489
bTf = 23436 U&= b-P3=6011.9 OK | 1R 366.8 1489 @ 768
BOLT BTf = 1696.5 -P3 = 4608.0 0K REEEH 359.0 1450 @ 792
G-PL EE G-PL P4 = 2897.7 0K
<BOLT> Ab  Tob sfs  mBu wAY  <G-PL BEL
314 1571 1EEEER 707 176.7 12 15.7
2EEE 141.4 3534




